8/25/2019 Preview Question Paper

GURU BAKYAM.GRAGHING CENTRE, MOB: 7Q1,84574A0(MhatsApp)

REVISION TEST_UNIT 4
12th Standard

Maths Reg.No. :
Exam Time : 01:30:00 Hrs otal Marks : 60
PART A 10x1 =10

1) f(x)=sin"ly/z — 1 ¢Te0 eueDMISSHLILBLD FTFTLN6ST FMFLTSHLD

(a) [1,2] (b) [-1,1] (c) [0,1] (d) [-1,2]
2) &mjy f(x)sin}(x?-3) eT6vMl6L, x QHESGLD QemL_Cleuear

(@) [-1,1] (b) [v2,2] (© [-2,-v2]U[v22] (d) [-2,—v2]Nn[v2,2]
3) cot ! (v/sina) + tan~! (v/sina) = u 61607160, cos2u 63T LOGILIL]

(a) tan’a (b) O (c) -1 (d) tan2a
4) tan™ x-cot™! x=tan'1(%) 61601 FLOGTUML 19 MG

(a) ey Qebemev (b)) Crawm® Sijey () QW Seuset  (d) elEmEIDODS Ses6r

5) |x|< 1 eteaN6L, sin(tan™! x) -63T LO&IIL]
1

T 1 T
6) -1 VITz?—V1-2? . o
tan {—\/erm}_aﬂ“ﬂmx =
(a) sin 2a (b) sina (c) cos 2a (d) cosa
_ - V3z _ [ 2z— . _
7) a = tan! (%j),ﬁ— (\/gyy) 6TeofleL a - B =
(@ % (b) 3 @) 7 (d) =
8) cost (%) + sin'! (222T) @6dT LOSILIL]
(a) I (b) 2 (c) 47 (d) 0
9) 4 cos! x + sin"! x = n, eT6vTl6L X =
(a) b) 5 () () %
10) A ABC 60 C (5 QFRIGHTEILD 6163160, tan-t (;) + tan’! (%) =
(a) £ (b) = (c) & (d) £
PART B
11) &I ST6H015% Sin'l(sin%—“cosg + cos%sin%).
12) cot! (\/;271) = sec 'z, |z| > 1. 616018 HIL (h5.
13) HlepN&S (sin 'z) = ¢%@rﬁu@ Ix|< 1

14) cot' (£) = 6, 67600160 cos 6 637 LOFILIL| BTN,
15) RlemLN&S. 2 tan™ (2) = tan (2)

3 5

PART C
16) |z| < % 61607160 tan 'z + ttm_lli = tan_li‘f—;? 61601 HMI6)&.

17) Netreu(meustTeummMm@ FMIUSLD SIT6I018
g(x)=25in—1(2x—1)—g

18) §115:8:
otan 'z = cos 1 1=2 ~11=8

T €08 1+bQ,a>0,b>0

19) §16&. tan (%) + cot ! (%) =4,2>0

20) &L06OTUML g 65T QIO &IT6)SH6M6N HT6T018.

tan '\ /x(z + 1)+ sin "2l +z+1=1F

PART D
kindly send me your key Answers to our email id - padasalai.net@gmail.com
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5x2=10
5x3 =15
5x5=25
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21) AL SMEBIS. \\\ww.Padasalai.Net www.Trb Tnpsc.com
(i) cos™ (%)

i) cos™ (cos(— %))

iii) Cos'l(cos(—%))

22) d-& Qurr e)fng,@u_lrr&mrr&,& Qamen(h a;, as, as, ... an (5 Fal (B QML 6T6vTl6V,

_ =bkyvb"—dac b —4ac 1 d -1 d . Op—ay
[tan ( Traa, ) + tan ( 1+a2a3) +....tan ( Tra,a. )] = Tiaa, 61607 [_B]QJG)_]&

23) &]5’:&5 tan’l (=) + tan™! (%) =7

24) esTeuU(HLD FMLSTI6 FMTLSLD SHTEV0IS.
f(x) = sin"! x + cos x

25), ([ JiE@viz\ o .
tan <—¢@+¢1—_x2> = o 6T60116L X2 = sin 2a 61607 HlEHLINGS.

ALL THE BEST....!I

hkhkhkhkhkkhkkhkkhkkhkkhkkhkkhkkhkkkkkkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkkkkkkkx

kindly send me your key Answers to our email id - padasalai.net@gmail.com

https://teacher.qb365.in/5a50ff6949242e940854f70f4a117d80/98595/a7{393987e 1ba348fdf26923fd67f231

2/2


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

